H & 0l & A 2 M A

SA: otE TRl
B HooY ¥ Sy 2

©9: OIS TABY X4 EEREY
orE 2Ha( I 7,004,983 4,759,983 2,245,000
= 1,500,000
Al 1,117,000
= 4,387,983
e 2 ge 2 4,131,665 1,251,192 2,880,473
= 1,500,000
Al 1,033,000
3 1,598,665
OIEE TABY X4 4,131,665 1,251,192 2,880,473
=2 1,500,000
Al 1,033,000
3 1,598,665
WHOHS RMHS X oHE 59,535 36,895 22,640
201 LBt | 25,700 25,060 640
01 ArR2elHl 25,700 25,060 640
O 1. etag| 8,800
—OtMBRIHEA M 38,000 * 8% 3,040
~HAMHEEUSH Y MR
20,000 * 10052 2,000
—MEolY DS ME 3,000 = 5005 1,500
—oFBREY (T Y BEEH) = 840
- BREE (32, 22, Y 5)
400,000 * 1% 400
CANREE(MEX, 278 8) 200
M4 9 234 12,000 * 208t~ 240
-S| SRELY
70,000 * 32 * 23] 420
—HHOH AN 2 1,000
O 4. m=H| 2,200
—AREY WS UYE R
27,500 * 409 » 2% 2,200
O 5. 2 14,700
—otEsiREH Sl
8,000 * 2538 * 24! 39 1,200
—MEOY Ha22X S
8,000 * 308 * 303 7,200
—THEHCHR HIA22R 24
3,000 * 30% * 203 1,800
—HA2R HIXYS 22K A
3,000 * 158 * 108] * 104 S 4,500
203 & RETH| 11,835 11,835 0
SRS 11,835 11,835 0
O MU0l AlsEF 1,000,000 * 0.9 900
O HEZAIZ ABETY 12,150,000 * 0.9 10,935
207 4RI 22,000 0 22,000
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S oHEBE| D
FE: oY ¥ BS 23
CHel: OIEB CABZ X4

40
Il
ro

01 A ESHH| 22,000 0 22,000
O JisdxdHs =8 22,000
Motae] Qi2rEs gds) 39,810 36,380 3,430
201 L2 4,540 4,510 30
01 At ZelH 4,540 4,510 30
O 1. gBiEH 3,740
—SNEE RBX ZEN WNH
55,000 * 64 330
Qo 22 AF 3,000
—Hdus 2¢€ E2E Az 200
—XSHWS AL 500 JH 210
O 3. 2dsg 800
—Huognsg 29 2AsE
100,000 + 8% 800
301 EtEd = 23,020 23,020 0
09 BALAHIXIRS 3,020 3,020 0
O gMeA ne 2 S &4 0
100,000 * 2¢ = 28 400
O & NELMY MUH ez
1,500,000 * 1% 1,500
O NELNHY SZEH &4 4
14,000 « 40 * 28| 1,120
2JleEd=s 20,000 20,000 0
O MUFHANE JEZLAUAL K
100,000 » 200K CH 20,000
302 Ol =M E & =2 8,250 8,250 0
02 SIS SRS EEAS 8,250 8,250 0
O NESUNUHE HHHLES XS AlH
8,000 » 159 = 108 1,200
O NSNS HHUSEES TR 2tald|
3,000 » 169 * 108 450
O & NSy Hugas N 6,600
— &l 8,000 = 10¥ » 63| = 10HE 4,800
—2hAlH| 3,000 10 » 63 * 10HE 1,800
307 2120l A 4,000 600 3,400
02 SIZHBAANHE R 1,000 0 1,000
O H2adM 2SA8N &8 X 1,000
06 E&= 3,000 600 2,400
O NEENHE E88 10,000 * 300 3,000
OEBEHBE FIAY 7,330 7,830 A500
201 k2 7,080 7,580 AB00
01 At 2lHl 7,080 7,580 AB00
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SN oEBRID
HE: LY % S 23
Chol: OLEEH TASZ A4

d0
Rt
[FY

O 1. guiag 5.080|
—oERsRE ERS MR
1,000 * 2,00071 2,000
—OIHSESE BHO M40 FIR(5000m *
90cm) 50,000 * 4D} 200
—oIEFEA o EES MR
400 * 600} * 128] 2,880
—OIEEO o MHQl B0 HE(5000m *
90cm) 50,000 * 120 600
—0j2l0] HEHEDY 2 EHS HE 200
—oE2ses 2XEs M= A M
= 4,000 * 1005 400
0 3. 284+ 800
00| OHRYE DA 2 LA
100,000 * 85| 800
301 LA 250 250 0
09 EALAHI X/ 250 250 0
O oEBseSERBAE Y HOILE &A
50,000 * 53 250
Q0IOAHEE 2 56,260 52,300 3,960
201 UBS A H| 7,300 7,300 0
01 Al el 7,300 7.800 0
O PUOEEY S2S HE 7,300
PN 1,800
—HOX = NS 55 * 100,00004 5,500
307 0IZHO| & 48,960 45,000 3,960
06 EE= 48,960 45,000 3,960
O FolotEEER 272 + 180,000 48,960
WU ES ALEH 29 o 32 112,311 75,186 37,125
201 UBS A Y| 92,931 71,686 21,245
R 92,931 71,686 21,245
O 1. 222 ¥ MA 28,226
—THHHBAL RHSMBTI| AR
5,000 * 12904 * 128 720
~SSHAR(I2A) AHA ABE
400,000 * 12 4,800
LAV REEM ARE
88,000 * 18044 » 12 19,008
— TR AIBCCTV ®I| AR E
300,000 * 128 3,600
—2E) AAH A5 ARE
7,000 * 2944 * 78 98
O 3. N&RHISA L] 64,005
—AURHIR S0 1,673.2 % 102 * 57CH 954
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Metoe & thed 238
OHEE TAIEE X4

m
!
0

—HAEZE 660,000 » 25CH » 8% 1,320
— g0 550,000 * 32CH * 8% 1,408
—aEED 300,000 * 82CH * 8% 1,968
—ExmEag Ha 1,603
5E E2i8 8,900,000 * 2CH * 4% 712
258 E2ig 8,948,000 * 1CH * 4% 358
e s 5,188,000 * 3CH * 4% 623
—qeE 28| 429,000 * 78CH * 8% 2,677
—THZRAIE 467,270,000 * 6% 28,037
— SRR 2 30,252,000 * 6% 1,816
— X E S EH ] 14,492
CNENEEHEI 29 2N
811,000 * 128 9,732
CRIFNEEHEI B REL
119,000,000 * 4% 4,760
—EzEOAAY 2,000
LB S HH 24 2,000
— =gy 0sY |24 7,640
. ADHE 259 8,500,000 * 5IHA « 4% 1,700
metss Jsot 165,000 * 367 5,940
O 4. %tz - duHl 700
—HEE WHUS [T 29| 700
206 T 2 Hl 6,000 3,500 2,500
01 =t 6,000 3,500 2,500
O XFUTHLHCHHI KHKH 6,000
— YOI (Y EE) 2,500 * 2,00004 5,000
—JIE (SO, B3, HY ) 1,000
401 A& IR DHY] 1,980 0 1,980
01 Al&HI 1,980 0 1,980
O =S0iH D=9 &X SAHFIE00A)
1,980,000 * 1742 1,980
405 XA SH| 11,400 0 11,400
01 It U BEHSH| 11,400 0 11,400
O WHZAE CCIV & o - Zets M I 7,700
—EE(MO ¥ AE) 3,000,000 * 204 6,000
—CCTV HAES YaHIE 1,200,000 * 1CH 1,200
—CCTV @& BUEE SUE 500,000 * 1CH 500
O S BFERME HIFSALI|(FUECI0A
) 3,700
WO 2 &Y 89,460 51,320 38, 140
201 LBt A H| 19,460 31,320 211,860
01 AL 2| 14,460 11,960 2,500
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2A: otEpe)
o WY ¥ S 2a
o9l otE B

H1
=
e
1Y)
Te
0x
m
{0
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o

O 1. gur+=0 - — 13,060
—EASHE By 248
70.4 * 30,000M" * 57} 4 10,560
~Ne HEEX ADE 7Y 2,000
—ElEGAE BEE MR 500
0 3. 29+ 1,400
~NEUHLB L JSHESY
70,000 » 524 * 43] 1,400
02 B2 5,000 19,360 A14,360
O 3. A&BHISTHI 5,000
—4YULANBAL RIS B2 5,000
401 Al4HI S CHHI 70,000 20,000 50,000
01 AlZHl 70,000 20,000 50,000
O +4S4NBAL SRS M =) 20,000
O BAUNANL(H+B) XN MY 50,000
EAGEE A (2EAY) 16,000 0 16,000
Al 8,000
2 8,000
307 220/ 16,000 0 16,000
Al 8,000
2 8,000
06 =& 16,000 0 16,000
O B4di=s AY X 2u3 16,000
A 8,000
2 8,000
2811 29 4,809 25,681 £20,872
201 Yere sy 4,809 3,681 1,128
EEEET 4,809 3,681 1,128
O 1. 2822 ¢ HA 1,445
~XHETHAI %
&8(58) 65,000 * 104 65
 BHE(A8) 30,000 * 10} 30
~NEN PER 1,200
 SB(5Y) 500,000 * 1CH 500
- BB(4E) 700,000 * 1cH 700
—SAN LY 150
CETPS ) 150,000 * 1C 150
O 4. %z - duy) 3,364
~x2 s 2,064
A 1,433.3 * 1202 * 128 2,064
—xher A2t 1,300
s8(58) 500,000 * 1Ck 500
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2A or@E
3 oY 2 Sy 238

Ehef: OHMSE A 24 (Bt @)
EEIPE)) 1000 » 10 )
DR 2HE 4 X B8 376,150 25,750 350,400
201 gEt22] 376,150 25,750 350,400
01 At 2 2(H 328, 150 25,750 302,400
O 1. ggtx=&H| 323,200
—RIHEEA AES JIE 7Y
50,0008 * 900K = 6& 270,000
—2AEE & JE ABE 47,400
- H2A 6,000 = 5,4000H 32,400
- JIE A8 15,000
—3ZHe EEE A 5,800
- B8 #=0 1,800
- BE 2B 4,000
O 5. S| 4,950
—IZLH9 HI&2RX S 4,950
- SEHI 8,000 » 158 » 30¢ 3,600
- ZHALH| 3,000 » 159 = 30¢ 1,380
02 Z32EH 48,000 0 48,000
O 080 St 2 &N ACIABIA MBE
8,000,000 * 6& 48,000
272 AU AL (BEALY) 300,000 0 300,000
Al 240,000
- 60,000
401 Al HI 2SI 300,000 0 300,000
Al 240,000
- 60,000
01 Al 300,000 0 300,000
O gd8s RUXOHIE & 2 8L =F35t
A B 300,000
Al 240,000
7 60,000
Mol EXNSAHB(BEAL) 3,000,000 800,000 2,200,000
= 1,500,000
Al 750,000
T 750,000
401 AT HI K E Y] 3,000,000 800,000 2,200,000
= 1,500,000
Al 750,000
T 750,000
01 Al &d] 3,000,000 800,000 2,200,000
O glelXl+ XA HE X =yl 3,000,000
= 1,500,000
Al 750,000
7 750,000
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;;;3—\“1 Mol 2 S8 28
Erel: OHME TAIEE X4 (915 d)
QIS EI2ANEFIE 2 204 HWdsEIIgd (R 70,000 0 70,000
ZA)
Al 35,000
- 35,000
401 AlEHIZ S 70,000 0 70,000
Al 35,000
T 35,000
01 Al&€H] 70,000 0 70,000
O QSSERAEFIE 2 204 HWNEsYE
o 70,000
Al 35,000
- 35,000
Q0 motE N Al FE 1,185,729 1,044,552 91,177
FOIMBOE AN 1,135,729 1,044,552 91,177
CCTV SEHNAUE 29 1,185,729 1,044,552 91,177
101 21248 684,457 652,084 32,373
04 JI2ZR2EXNSES 684,457 652,084 32,373
O SEZHUE R2UIHRE 1A 684,457
—-Jlga 86,944 » 169 » 288¢ 400,638
= gl4g 86,944 * 169 » 68¢ 94,596
-0zt - £ 2R2=g
43,472 « 16 » 114 79,293
-RofY +¥ 86,944 « 162 * 18& 25,040
—EE&0Hl 300,000 * 16 = 2% 8,600
—=SXRE 300,000 = 16¥ = 23 9,600
—zZhAlH| 3,000 » 169 ~ 288 13,824
~RUASRYES 622,989,824 * 4.5% 28,035
~RUALARLES 622,989,824 » 3.43% 21,369
— PRI QAEERET
21,368,551 = 11.52% 2,462
201 ¢et24| 248,985 207,768 42,217
01 At 22|t 1,816 1,816 0
O 1. get=EH 1,000
—SEBHUH 22F 1,000
O 6. gdx= 816
—SE2NME EAZele 33,000 « 128 396
—&J] 35,000 » 104 * 128 420
02 22| 248,169 205,952 42,217
O 1. 2322 % HA 128,123
—CCTV M E3H AEE
65,000 = 1062l & + 12& 82,680
—2H0ITH0l Bl ME=
55,000 = 26%|4 « 12& 17,160
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SA: HEBRD
o =00 BOHE OHEE Al PE
CHol: EOIMEOIN BAINM

—CCTV @JIR= 5,000 » 382002 » 128 22,920
—QH0IT}H0l AIIRS 5,000 « 7HA * 128 2,220
—CCTV AR T AFER
415  B03MA * 12 3,003
—QOITOl HRAZT AES
415 » 28042 » 128 140
O 3. N&RHISXHI 120,046
—CCTV 3H0iI 2R XI 22
2,000,000 * 591CH * 5% 59, 100
—F4S4 0|TH0| SXE4H]
111,483,900 * 5% 5,575
—$YADIEAE 22H0ITH0| S X E4H|
495,538,775 + 48 /128 * 5% 8,259
—CCTIVESZHME FH SX B4
942,233,000 * 5% 47,112
203 & REAH| 450 450 0
03 AlBEZ QR EAH| 450 450 0
O Safe-+ L SEBHME 2 500,000 * 0.9 450
401 Al HIL S THY| 200,197 158,000 42,197
01 A& 200, 197 158,000 42,197
O CCTV ZHO0IE &2 HUAY
20,000,000 * 14l 20,000
O CCTV QAXRIEX B4 101,900
— AN &% 15,100,000 * 2CH 30,200
—HAMATRIY HX 6,550,000 * A0 26,200
— MM EEE & 45,500,000 * 1CH 45,500
O == 0TV DA 55,625
~3| & 302 1,890,000 * 29CH 54,810
~DEE 302 815,000 * 1CH 815
O S 0TV & X (30101 0f &) 22,672
—(2OS)YHS CCTV £X
11,836,000 * {4l 11,336
—(BOHE)YHE CCTV &X|
11,336,000 * 14| 11,336
405 Xt &k SH| 640 26,250 AD5,610
01 AR S ESH S| 640 26,250 A25,610
O SHAHMEL SANAAY 640
— AR 160,000 * 17K 160
—0ISAY DA 120,000 * 17 120
~IHHIR mA 180,000 * 274 360
SRAE otEBR 1,202,363 1,997,215 AT74,852
Al 84,000
3 1,138,363
SREUAL ¥ ILH B 1,202,363 1,097,215 AT74,852
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SA otE3e B
FE: T2AH ot™BE

Bel: ERXYAY ¥ JIHLH 2 =ER-ED
7 1,138,363
=g RO |XE 1,009,686 1,255,179 £245,493
201 el 425,714 472,163 £46,449
01 AHR R 2/H] 1,248 1,698 A 450
O 5. 32| 1,248
~SRXYAL OF2 =B S|
8,000 « 3% * 14 » 5% 1,248
02 222 424,466 470,465 45,999
O 1. 3223 2 HA 424,466
-Jl2s @lez 267,380
olze3
6,290 * 3.6Tkw * 2008t * 1.1 * 128 59,047
- AZRR
80.9 * 0.150kw * 3,944 * 12A12¢ * 1. 227,433
1 +302 * 128
-Jl2E s483 1,352
JIRS 4,000 « 2002 * 1.1 * 128 10,560
 EREYBHALY
60,000 * 1.1 * 128 792
—olg ®IIe3
35.7 « 80w * 3,2605 « 1.1 * 128 123,239
—HolE SMQ3
3,500 * 5474 * 1.1 * 128 2,495
206 1 2t 159,972 170,216 A10,244
01 X 159,972 170,216 210,244
O =S 24 XM 86,465
—YI(YAEE) 40,000 * 629H * 20% 5,032
—OHEII(SEE) 30,000 * 6290 * 10% 1,887
=L 1,500,000 * 20004 * 5% 15,000
—SERE| 30,000 « 3,94404 * 3% 3,550
— 2|7 (LeD) 400,000 * 3,3157H + 4% 53,040
—LED SWPS 80,000 * 3,31504 * 3% 7,956
O 2ots 24 XM 73,507
—LEDB T 80,000 * 1,3017H » 5% 5,204
-2 80,000 * 1,3019H  15% 16,612
—SOIT(SATHE) 30,000 * 1,3019H * 15% 5,855
—SHPS 60,000 * 1,3019H * 10% 7,806
—LEDSIIR 300,000 « 1,304 * 10% 39,030
401 Al&HIZ ST 424,000 612,800 £ 188,800
01 Al&H 424,000 612,800 £188,800
O =% J}IZSJI2 B 900,000 * 1005 90,000
O J2s =dg BH 3,500,000 « 108 35,000
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HY: CRAL oEBe

Hel: S2XHEAIL & J|™dd 2o (o & @)
1,000,000 » 353K £ 35,000
O JIZE RAEF 80,000
—JIZ2E +HS R €A 364,850 » 2082t 7,297
—3E @ otE)] B 123,740 * 1500K 18,561
-t2s #X & &#H 3,478,200 » 72 24,348
—&E Jjolg 4X ¥ EHAH 79,740 * SOM 7,177
—JIEt =& nH &
32,617,000 * 14! 32,617
O Betg Asd 1,200,000 » 45& 54,000
O % 298 WA 1,000,000 » 458 45,000
O 208 B4 75,000
—8Z wH 30,000 * 1508 4,500
—QtED| WH 50,000 = 170K 8,500
—&EJ| A 100,000 = 170K 17,000
—S217 A 150,000 * 170K 25,500
—FotE ofd, # 300,000 * 508 15,000
—=JIE SEXEDI] nH 2 65
30,000 = 15000 2 4,500
ZU | s2)|§ Jld&H=e 50,348 547,487 A497,138
201 et | 50,348 73,237 A22,888
02 2329l 50,349 78,237 22,888
O 1. 2323 % WA 12,987
—&2J 8IS 10,729
Jlges 6,160 « 85kw » 1.1 » 128 6,912
CAEBRE
100.7 « 2,871kwh * 1.1 * 128 3,817
-S| SMR2 116,000 * 1.1 = 128 1,532
—SHI| FIIHEAM == 121,000 » 6CH 726
O 3. AIEZHIRXIBI 37,362
—s20| KXz g9
177,000 = 600 = 1.1 » 128 14,018
-S| HA EAH 93,740 * 1.1 + 1108 11,343
—-&2&J |y 2,000,000 = 6CH 12,000
oG- HIE SABE(BEEMY) 84,000 84,000 0
Al 84,000
201 B2 84,000 69,000 15,000
Al 84,000
01 At 22lt] 3,120 3,120 0
0O 3. 2+ 3,120
—ZOIStEH I E A 60,000 » 523 3,120
Al 3,120
02 2Z22&d| 80,880 65,880 15,000

- 464 -



Rl ot e T
B 2A4M otNFL
& E2XYAY * J1dgd el

O1. 222= 2 HMA T HE 26,510 T
—Zolol+=HIER IS 8,911
JI2R2 5,550 « 60kw * 1.1 « 128 4,396
Al 4,396
ANERZ 76 * 4,500keh * 1.1 * 128 4,515
Al 4,515
—FOIBIAEIE SARS
75,000 * 1.1 » 128 990
Al 990
—ZOIBIABIE 2502 109
E2es 1,080 = 1.1 « 128 15
Al 15
ANERSZ 1,880 * 3.78W » 1.1 % 128 94
Al 94
— OIS LB IR HARAY]
150,000 * 1103 16,500
Al 16,500
O 3. A&EH S| 54,370
—TOISIAB IR SXB2IY
54,370,000 * 1Al 54,370
Al 54,370
2r0| notele 20 X2l 22,198 23,612 A1,414
201 el d| 22,198 23,612 A1,414
02 3224H| 22,198 23,612 A1,414
O1. 2222 ¢ HA 7,198
—2al ®IR32 975
JERE 6,160 « 10kw * 1.1 + 128 814
CANERE 100.7 * 121keh * 1.1 * 128 161
—240 +c2 1,827
e 3,000 » 1.1 » 128 40
ANERZ 2,320 *» 140m"' * 1,1 = 58 1,787
—2x0 S42 30,000 » 1.1 » 128 396
—2al HASAH| 250,000 * 163] 4,000
O 3. AEEHISXbI 15,000
—EHIO, ®)|BY S 24 15,000,000 * 14 15,000
ASEEHUNMY S 15,000 16,174 21,174
401 Al&H| L0 15,000 5,000 10,000
01 Al &l 15,000 5,000 10,000
O A8EUNMLH &H 15,000,000 » 14! 15,000
SARBAIE JIWLH R 41,130 70,763 A29,633
201 LEt2 A H| 41,130 43,763 22,633
02 Z229H| 41,130 43,763 A2,633
O 1. 2282 ¢ HA 21,130
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Sl SEEBAL L JIRLHI B (Etel:HEl)
TSANENE dola= 12,162
CIERT 7,220 % 105kw * 1.1 * 128 10,007
WIEY-E
109.5 * 1,484knh * 1.1 * 128 2,145
—2AWBAL SA22 3,221
OIEIY S| 60,000 * 1.1 * 128 792
RIIHEEA COTV
80,000 * 23144 * 1.1 » 128 2,112
CRIAMOIOIBE 24,000 * 1.1 % 128 317
—F@IlotE Rl HI 252,100 * 1.1 * 128 3,328
—AgorEBRIH| 184,000 * 1.1 * 128 2,429
O 3. A&ZHISXHI 20,000
—SANBAM JHAY Hi=D
0,000,000 * 14! 10,000
—SAXBAL JIRLH RX2E
10,000,000 * 14! 10,000
B™SAFY (AEBID) 87,226 90,986 A3,760
= (R B2 ) 87,226 90,986 £3,760
=2 (SR B2 D) 87,226 90,986 A3,760
201 QErS Y| 20,590 18,746 1,844
01 A2l 20,590 18,746 1,844
O 1. ystag| 10,030
_EN2Y J=LgH 2,500
—=AEX 20,000 * 428 A 840
—ZaE £y 297,000 * 182 5,346
—IRIE, =AD| L2l 504
—ueRsE 840
=97 20,000 * 25 * 129 480
X2 5,000 * 25 * 128 360
O 5. 2| 8,448
XS T 8,000 * 228 * 4A 129 8,448
O6. gxz 2,112
—2 = AR 143,000 * 123 1,716
—ymalE 33,000 * 129 396
202 OfH 59, 136 63,840 £4,704
NETEL 59,136 63,840 ~4,704
O U B0
20,000 * 228 * 142 * 128 0.8 59, 136
203 Q= H| 7,500 6,900 600
B EEE T 3,300 3,300 0
O AHTAZE I BSIYALET| 3,300
MBS RETY| 4,200 3,600 600
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2N etEze|
a3 gEggdy(erdaein)
el D (e @e )

40
o

[T] O owmzew N 350,000 * 128 2,200
Hegs (e @e 1) 428,000 376,038 51,962
HEHHX S (S H 22D 428,000 376,038 51,962
e 428,000 376,038 51,962
702 12 RE2 428,000 376,038 51,962
NEEREE 428,000 376,038 51,962

O Muz2IIZ HES 428,000
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